1. KaneHngapHbin y4eOHbIN rpaduk

TE-¥C

€C- L1

ABrycr

9T - 01

Utoro

177

43

2/3

2/3

13

21/3

60

312

6-€

[AA4

9¢ - 0¢

UioAb

61 - €1

-9

- 6¢

81/3

2/3

142/3]| 151/3

13

21/3

10

52

Kypc 6

2/3

6

13

21/3

30

ceM. 1| ceM. 2 | Bcero

72/3

2/3

82/3

22

8¢ -t

Te-ST

UioHb

b1 -8

I|II|I(IK|K|K|[K|K|K|K|[K

L-T

I[I[I[I[I3|K|K|K|K|K[K[K|K

||| K|K|K|[K|K|K[K|K

I3[ K|K|K|[K|K|K[K|K

I(I[I[3[I3|K|K|K|K|K[K[K|K

T€-S¢

.:’.-
i
]

’
o

v -81

Ao o
et
ot
o

34

10

52

Kypc 5

ceM. 2 | Bcero

17

30

ceM. 1

17

22

Mait

LT-TT

0T -+

€

- LT

9¢ - 0C

6T - €1

Anpeab

-9

34

10

52

Kypc 4

ceM. 2 | Bcero

17

30

cem. 1

17

22

- 0€

6¢C - €¢

FT{AJAA|A[A[AA[AJAA|A[A|A[K|K|K|KIKIK| KK

-9t

MapTt

ST-6

A
A
a

8-¢

T

- €¢

2/3

10

52

Kypc 3

161/3 |331/3

2/3

30

ceM. 1| ceM. 2 | Bcero

17

22

-9t

ST-6

®deBpanb

8-¢C

e
,
o

-

-9¢

SC-6T

fluBapb

8T -¢1

2/3

10

52

Kypc 2

ceM. 2 | Bcero
16 1/3 [331/3

2/3

30

17

22

T1-§

- 6¢

KIK{3[3]|3

KIK{3[3]|3

KIK|{3[3]|3

KIK{3[3]|3

8¢ -¢CcC

T¢-G1

Aekabpb

b1-8

L-T1

34

10

52

Kypc 1

17

30

ceM. 1| ceM. 2 | Bcero | ceMm. 1

17

22

0€ - bT

e )

€C- L1

HosGpb

91 - 01

6-¢€

10( 1112|113 14| 15)16( 17| 18| 19( 20| 21| 22(23|24|25(26]27|28|29]|30|31(32]|33|34(35|36|37(38|39(40(41|42|43(44)|45|46|47]|48|49|50]51(52

C

-LC

9

9¢ - 0C

8

6T - €1

OKTa6pb

-9

- 6¢

8¢ -t

TC¢-GT1

b1 -8

CeHTA6pPDb

Mec

II

III

v

2. CBoaHble faHHble

TeopeTuyeckoe o6yuyeHue

“1Mpon3BOACTBEHHAA NPaKTUKa (paccpea.)

J |[3K3aMeHauMUOHHbIe ceccum

“#eYyeGHanA npakTMKa (paccpea.)

Tttt

=
i
”,

-

-
iy

-

-

-

A |AVMNAOMHbBbIE PaGoTbl AU NMPOEKThI

I [Foc. 3k3aMeHbl n/uAu 3awmTta BKP

K |[KaHuKyAbI

HToro

CTyA€eHTOB

F'pynn




